From Linjing

Qé“ onblem, :

We assume SDE Y'=AY , where Aaxa is a Teat matrix, and
A Aasg cn\L7 one repeated egenvaue ) with only one L;‘neng Jhd?adab
eigeniector V and o genevalized igenvectoy U SatXfIMI(DIZA)UEDV

Show that J=C-tw+u)-6m:‘s a Solution ofJ':Aj.

£ ¥ Prozi]t.-

First, on the left,

D'= E19+0). % +(-t0+w) -2 8™
= (V- 20t +230) 0%
Since 1¥is an &igenvectoy ctf A, Ap=2D1.

Thus, N'= AVt~ B +2u)-8™

On the ‘Ytyht,
AY= Acty +uy ™
=(-AV%.t + Au,).a”t
Since W is ajenercuizeo(, eyenuectoy o\f A,
(PI-A)u=V
= du-Au =y
= Au=2An-V =--VP+on
Thus, AY =CABt-v¥+2u) ™ = '
Hence,

= (—t¥+uw)-87is a solution of Y=Ay.®



